
2. Area 
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2. LSF 1 cm rep 50000cm 

1cm rep 500m 

ASF 1cm2 rep 250000m2  

Area = 

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
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ASF given 
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3. 

Area = 4 x 4sin 420 - 
44

7

22

360

42


 

= 10.71 – 5.867 

= 4.796 

M1 

 

M1 

A1 

area of  

rhombus & 

sector 

difference in 

area 
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5.  (a) Tan 60
0
 =   AC 

   5cm      M1 

 

  AC = 8.6605CM     A1 

 

 (b) A = ½ x 5 x 8.6605     M1 

  A = 21.65125      A1 

 

(b) 60
/360 x r

2
 

 
60

/360 x 3.142 x 25      M1 

 

 = 13.091cm
2
      A1 

 (d)  Area of shaded part  

  Δ COA = Δ OBA, sector OCD = OCB 

  21.65 x 2 = 43.3025cm
2
    M1 

  13.091 x 2 = 26.182cm
2
    M1 

 

   Area of shaded part 

  43.3025 – 26.182     M1 

  = 17.11225cm
2
     A1 
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6.  

 
 

½ x 200 x 120 = 12,000 

160 x ½ x 50 = 4000 

½ x 50 x 40 = 1000 

½ x 50 x 100 = 2500 

½ x 180 x 70 = 6300 

½ x 140 x 80 = 5600 

½ x 100 x 60 = 3000 

 34400m
2
 

 = 3.44ha 
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For AH 

 

for offset 

 

div for AH 

 

 

Offsets to AH 

 

Complete diagram 
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7. 

2368.6

68.1105.18

68.118.19.34.21.8

)3.61.8)(2.41.8)(7.51.8(1.8

1.8
2

3.62.47.5

cm

areaShaded
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
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B1 

 

M1 

 

A1 
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8 

 
 

Area of the rectangle= 60k
2
 

Area of unshaded part parts 

 

2 2

2 2 2

2

1 1 1
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Area of shaded part = 60k
2 

– 37.5k
2
 

                                = 22.5k
2 

b)  

 

2

2
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

 

Dimensions = 20m by 12 cm 
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9 a) = 

  
2

2

160 22
10.5

360 7

154cm

 



 

 

 

                            D                                           C 

 

M1 

 

 

A1 

 

 

 

 

 

 



 

10.  M x m value = 2.655 + 6.415 

                          6.405 – 2.655 

                     = 9.07 

                        3.75 

                    = 2.4187 

 

11.  (a) Number of tiles      = 10.5 x 6 

        to cover the room       0.3 x 0.3  

                                   = 700 tiles 

 

(b) (i) 15 x 700 tiles 

            15 x 700   cartons 

                 20 

       Cost = 15 x 700 x 800 

                         20 

      Cost = Kshs. 420,000 

 

       (ii) Other expenses = 2000 + 600  = 2600/= 

             Total expenses = Kshs. 420,000 + 2600 

                                      = Kshs. 422600 

 

          Selling price = 112.5 x 422600 

                10.5           h                                            10.5 

                        80
0
 

               

                A                               T                     x      B      

 

 

 

sin80
10.5

10.5sin80 10.34

cos80
10.5

10.5cos80 1.823

21 (1.823 2)

17.354

h

h cm

x

x

lengthCD



 



 

  



 

Area of AXYBCD  

 
2

1
10.34(17.354 21) 2

2

396.58cm

   



 

b) Area of the shaded part 

  = 396.58-154 

= 88.58 cm
2
 

  

 

 

 

 

 

 

 

 

 

B1 

 

 

B1 

M1 

A1 

 

 

 

 

 

M1 

 

A1 

 

M1 

A1 
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                                     100 

                               = Kshs. 475, 425 

 

          Selling price per tile = 475,425 

                                                525 x 20 

                                            = 45.27 

                                            = Kshs. 45.00 

12.  AC = 10 = AC = 8.66 

Sin 60
o
 

A70
o
, BC = 10 = BC = 8.91 

            Sin 70
o 

 

 Area = ½ x 8.66 x 8.91 sin 50
o
 

           = 27.28 

 

13.  S = ½ (170 + 190 + 210) 

S = 285 

Area = 285 (285 – 170) (285 – 190) (285 – 210) 

 

= 2865 x 115 x 95 x75 

= 15281m
2
 

      10,000 

= 1.528ha 

 

14.  LCM of 30, 50 and 35 mins 

         30 = 2 x 3 x 5 

         35 = 5x 7 

           50 = 2 x 52 

 Into hrs (1050) hrs = 17.5hrs 

                      60 

Next wail together at        7:18 

                               + 17:30 

                                   24:48 

 = at 1. 48 a.m on Tuesday 

 

15.  Maize –         ¼ x 2 = 1 

                                           3     6 

Remainder –   2 – 1 = 3 = ½ 

                                  3    6    6 

Beans –         4 x ½ = 2 

5          5 

carrrots – 1 x 1 = 1 

              5    2   10 

Let total area of farm be x acres 

1 x = 0.9 

10 

x = 0.9 x 10 = 9acres 

 

L.C.M = 2 x 3 x 5 = 1050 


